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% i MEEHHAEE FHFRER % Fr BERER 35F
% B B BT OE FIR RV FREF 5 R B 7 F iz = BEY 7. UT v - TN =0 NESEREMEKBGRERMER (NEARE)
AR (ki) 890, 000 kW 2O 77 (kW) 2, 660, 000 kW
H B | ¥ a| 44 55 6 A i;qgﬂ 75 8 A 98 ié E#Et | 108 | 118 | 128 i%g—:ﬂ 158 2 B 38 iég’_ THE | EEs /g”g
B K B A 107k 916 918 918 918 918 918] ——
BFE B B N 10°kw 885 388 883 326 610 749 ——
& #® ® % 97 97 97 97 97 97 97 7 0 35 66 82 —
EAG S 99 100 100 37 69 84 —
% BB &K h 2,208 4,392 744 720 744 2,208 744 48 0 792 3,000 7,392 ——
| RBWHRESNE | 10° kWh 1,955 3,898 1,960 705 2, 665 6,563 ——
HEEREHE | 10° kWh 1,875 3,739 1, 880 660 2, 540 6,279 ——
B AT N B 5 &| 10° kWh 80 159 27 26 27 80 27 9 9 45 125 284 ——
ﬁ( g g ?J% )ﬁ % 34 34 34 34 34 34 —
K| mAREHA | 10° kW 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 0 2, 660 2, 660 2,660 ——
BLR| B S | 10° kW 2, 580 2, 580 2, 580 2, 580 2, 580 2,580 2,580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 184 0 946 1,772 2,177 ——
| Eiﬁﬂiﬁﬁg h 720 744 720 2,184 744 744 720 2,208 4,392 744 720 744 2,208 744 50 0 794 3,002 7,394 ——
|| BEEE | 10°k 6, 688 6,911 6,688 20,287 6,911 6,911 6,688 20,510 40,797 6,911 6, 688 6,911 20,510 6,911 446 0 7,357 27,867 68, 664] ——
B E zwg%g kg 77 80 77 234 80 80 77 237 471 80 77 80 237 80 5 0 85 322 793 —
e} ;ﬂ %{mg g 10° kJ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o —
W R E| 107k 6, 688 6,911 6,688 20,287 6,911 6,911| 6,688 20,510 40,797 6,911 6, 688 6,911 20,510 6,911 446 0 7,357 27,867 68,664 ——
R B Pl R HE 7l &




BHREER 3 %’?ﬁ

Bl
(20226 %)
W F1m E2m E3M . 4 = = 3 W
B H BT 4A 5A 6 A s 7A 8 A 94 e FHEt | 1OA | 11A | 1258 wepgat 18 2 A 3A Ytz THIE | SEE | A &t
VETBTE (wt) HIE Hi5 3 3 & 3
4,10 0 0 0 0 0 0 0 ] 0 0 0 0 0 0 0 0 0 0 0
4.80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
v
7
s ke
2]
&
2[5 7.10 [} 0 0 0 0 0 0 0 0 0 [ 0 0 0 0 0 0 0 [
i 2 4.80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A
b
2 kg
A s
[ 5
2]
5 &
B > 7.10 0 0 0 0 [ [ 0 0 0 0 0 0 0 0 0 0 0 0 0
! o 4.80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N
= ke
L] v
A
»
&
’E 4.10 15, 081 16, 081 15, 081 15, 081 15, 081 15, 081 15, 081 15, 081 15, 081 15, 081 15, 081 15, 081 15, 081 15, 081 15, 081 15, 081 15, 081 15, 081 15, 081
4.80 29, 106 29, 106 29, 106 29, 106 29, 106 29, 106 29, 106 29, 106 29, 106 29, 106 29, 106 29, 106 29, 106 29, 106 29, 106 29, 106 29, 106 29, 106 29, 106
o 4. 80 16, 354 16, 354 16, 354 16, 354 16, 354 16, 354 16, 354 16, 354 16, 354 16, 354 16, 354 16, 354 16, 354 16, 354 16, 354 16, 354 16, 354 16, 354 16, 354
7
18] 2 ke .
K| o
FEl®
B[ 710 619 619 619 619 19 19 619 610 619 619 619 619 619 619 619 19 19 19 619
4 4.80 1,387 1, 387 1, 387 1,387 1,387 1,387 1,387 1,387 1,387 1,387 1,387 1,387 1, 387 1,387 1,387 1,387 1,387 1,387 1,387
2 ¢ 4. 80 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249
H
~1% y
3
1F s
[ sl
b &®
INES 7.10 ] [ 0 0 0 [ [ 0 ] 0 0 0 0 0 0 0 0 0 [
n 4.80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
H l *4. 80 189 189 189 189 189 189 189 189 189 189 189 189 189 189 189 189 189 189 189
—| = ke
v
A
2]
&
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N 1M E2m %=3Mm E4mM 3 W
EH B Bfr 4 A 5H 6 A i 7R 8 A 9A et E#EH | 10A 114 12A v 1A 2 A 3A s THE | FEE & &
TEAEIE (wih) 1B HiB 5 #AE & 3
4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4.80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
74 *4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Z
o ke
[}
&
*’E
,7 4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
V\] = 4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Z #*4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1 2 ke
3
5
Z
ﬁ(‘ ]\ 15
)
E - 4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 v 4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Il *4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= ke
El v
N
(2]
B
4&1 4.10 3,733 3,726 3,720 3,720 3,714 3,707 3,701 3,701 3,701 3, 695 3, 689 3, 683 3, 683 3,677 3,677 3,677 3,677 3,677 3,677
4.80 65,073 64,979 64, 889 64, 889 64, 796 64, 703 64, 614 64, 614 64, 614 64, 523 64, 434 64, 343 64, 343 64, 253 64, 247 64, 247 64, 247 64, 247 64, 247
I *%9. 00 2, 106 2,104 2,103 2,103 2,101 2,099 2,098 2,008 2,098 2,096 2,094 2,093 2,093 2,091 2,091 2,091 2,091 2,091 2,091
7
g o ke
2
&
Vs 4.10 130 126 121 121 117 113 109 109 109 105 101 98 98 94 94 94 94 94 94
= 4.80 1, 666 1,613 1, 563 1, 563 1,512 1, 463 1,416 1, 416 1,416 1, 369 1,325 1, 280 1, 280 1,237 1, 234 1,234 1,234 1,234 1,234
Z *%9. 00 5 5 5 5 5 5 5 5 5 5 5 5 5 4 4 4 4 4 4
Al .
3
;E 5
3 2]
i o
% =
- 4.10 10 12 13 13 15 16 18 18 18 19 20 22 22 23 23 23 23 23 23
N 4.80 536 553 568 568 583 598 611 611 611 625 638 651 651 663 664 664 664 664 664
E ﬁ% - *%9. 00 190 188 187 187 185 184 182 182 182 180 179 177 177 175 175 175 175 175 175
= ke
= v
I
2]
B
4.10 5, 820 7,047 8, 228 8,228 9,443 10, 652 11, 818 11, 818 11, 818 13,019 14, 180 15, 380 15, 380 16, 582 16, 656 16, 656 16, 656 16, 656 16, 656
4.80 26, 707 27,801 28, 859 28, 859 29, 953 31,047 32,105 32,105 32, 105 33,199 34, 258 35, 352 35, 352 36, 445 36,512 36,512 36,512 36,512 36,512
**9,. 00 5,973 7,287 8, 569 8, 569 9,902 11, 244 12, 549 12, 549 12, 549 13,903 15, 217 16, 577 16, 577 17,936 18,020 18, 020 18, 020 18, 020 18, 020
ﬁ MWd/t
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. F1m #F2m = F3M %4 - 3HE
H A A 4A 5 A 6 A diften 7AH 8 A 9A Gggr | EHIEF | L1O0A | 118 | 124 | Lga 18 2 A SA | wggee | THEH | FEER | 274
R 473 g5 g3 98 & 8
4.80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
49, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
v #4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7
o ke
2]
®
> 1.50 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [
Z w09, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7 *4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
p_j‘ v
2 ke
3
5
Z
& % 2]
it
‘ B > 1.80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4 #£9. 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
H /I 4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
—’; ke
e le=]
FHE| T
2]
&
% 4.80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
59, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
g ,){}f MWd/t
JE
2.00 24, 206 24,206 24,206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206
3.50 23,717 23,717 23, 717 23, 717 23,717 23,717 23, 717 23, 717 23, 717 23, 717 23,717 23,717 23, 717 23, 717 23, 17 23,717 23, 717 23, 717 23, 717
Vs 4.10 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310
)| 5 4.80 60, 056 60, 056 60, 056 60, 056 60, 056 60, 056 60, 056 60, 056 60, 056 60, 056 60, 056 60, 056 60, 056 60, 056 60, 056 60, 056 60, 056 60, 056 60, 056
° #£9. 00 ke 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578
H| o
MESE
#l
Bl 2.00 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176
EE 3.50 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246
H 7 4.10 1, 689 1, 689 1,689 1,689 1, 689 1,689 1,689 1,689 1,689 1, 689 1,689 1,689 1,689 1, 689 1,689 1,689 1,689 1,689 1,689
- 4.80 690 690 690 690 690 690 690 690 690 690 690 690 690 690 690 690 690 690 690
N #£9. 00 ke 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10
3
5
£/ K2
H £
ml> 2.00 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176
o 3.50 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249
4.10 2,100 2,100 2,100 2, 100 2,100 2,100 2,100 2,100 2, 100 2, 100 2,100 2, 100 2, 100 2, 100 2,100 2,100 2, 100 2, 100 2, 100
~*h 4.80 759 759 759 759 759 759 759 759 759 759 759 759 759 759 759 759 759 759 759
= *£9. 00 kg 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490
v
I
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% b NEEHHREE FHFEEHR % r PHEBR 35F
® & B BT M iR R TR G AT B F F iz e WD 7. T v T b=y NESECHERKIBGRE ARG AR (INEKE)
AR A (W) 890, 000 kW 2o 77 (kW) 2, 660, 000 kW
H Ao|w | an | sa | en |ELR| 7a | sa | on | EEZE | wwe | 1on | 118 | 1en | Z5R | 18 | zm | sa | ERH | e | mms | 270
B K B | 10°kw 918 915 918 918 918 ——
H|E B B | 10°kw 616 885 891 889 820 ——
& w  F£ % 7 97 97 67 97 97 97 97 97 97 89| —
EBIR KA A E % 69 99 100 100 92 —
5% B MR M h 48 744 720 1,512 744 744 720 2,208 2,184 4,392 8, 112 ——
s REIRESHE | 10° kWh 1,345 1,955 1,945 3,905 7,205 ——
EEREIR | 10° kih 1,282 1,875 1,866 3, 746 6,903 ——
B BT N E F & | 10° kWh 10 27 26 63 27 27 26 80 79 159 302 ——
# ? g 2 fé )?‘ % 34 34 35 34 34| —
| BREEA | 10° kW 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2,660 ——
BN EHEES | 10° kv 172 2, 580 2, 580 1,786 2, 580 2, 580 2, 580 2, 580 2,185 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2,383 ——
| gﬁéﬁg h 148 744 720 1,612 744 744 720 2,208 3,820 744 720 744 2,208 744 696 744 2,184 4,392 8,212 ——
|| BHEE | 10°k 446 6,911 6,688 14,045 6,911 6,911 6,688 20,510| 34,555 6,911 6, 688 6,911 20,510 6,911 6, 465 6,911  20,287| 40,797 75,352 ——
HE %ﬁg%é kg 5 80 77 162 80 80 77 237 399 80 77 80 237 80 75 80 235 472 871 ——
) ;ﬁ ?ﬁ{ﬂ]‘g‘g g 10° kJ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| —
WEEE B 10°kT 446 6,911 6,688 14,045 6,911 6,911 6,688| 20,510 34,555 6,911 6, 688 6,911 20,510 6,911 6, 465 6,911| 20,287 40,797 75,352 ——
KRR E 1 P A E Bl &
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. . E1m g2M 2 %3 . 4 3 WE
H H BT 4 H 5H 6 A iy 78 8 A 9 A gt EHEAEt | 108 | 118 1258 _éngjr 1A 2 A 3A L gmst THIE | FEEE | A st
i&?ﬁﬁf,‘? (Wt%) :’é‘/ B :’é:/g;qﬂ :.5/ B :i;/ﬁ;qﬂ o =]
4.10 0 0 0 0 0 0 0 0 0 0 3,758 0 3,758 0 0 0 0 3,758 3,758
4.80 0 0 0 0 0 0 0 0 0 0 28,071 0 28,071 0 0 0 0 28,071 28,071
v
7
v ke
(2]
&
% v 4.10 0 0 0 0 ) 0 0 0 0 0 154 0 154 0 0 0 0 154 154
= 4.80 0 0 0 0 0 0 0 0 0 0 1, 335 0 1, 335 0 0 0 0 1,335 1,335
% H
Mg
2
Al s ke
2 5
2]
2 &
*‘P - 4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
a n 4.80 0 0 1] 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Iy
= kg
L] 4
N
(2]
3
E 4.10 7,539 7,539 7,539 7,539 7,539 7,539 7,539 7,539 7,539 7,539 11, 298 11, 298 11, 298 11, 298 11, 298 11, 298 11, 298 11, 298 11, 298
4.80 14, 075 14, 075 14, 075 14, 075 14, 075 14, 075 14, 075 14, 075 14, 075 14,075 42, 146 42, 146 42, 146 42, 146 42, 146 42, 146 42, 146 42, 146 42, 146
74 *4. 80 21,621 21, 621 21, 621 21, 621 21, 621 21,621 21, 621 21, 621 21, 621 21,621 21,621 21,621 21,621 21, 621 21, 621 21,621 21,621 21, 621 21, 621
7
|| 2 ke
x| o
=&
i w7 4.10 310 310 310 310 310 310 310 310 310 310 464 464 464 464 464 464 464 464 464
= 4.80 670 670 670 670 670 670 670 670 670 670 2,004 2,004 2,004 2,004 2,004 2,004 2,004 2,004 2,004
§+ Z *4. 80 299 299 299 299 299 299 299 299 299 299 299 299 299 299 299 299 299 299 299
i~
2 ke
|3
JE| 5
| o
& &
]\ - 4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
o 4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
)Eﬁ | *4. 80 262 262 262 262 262 262 262 262 262 262 262 262 262 262 262 262 262 262 262
= ke
4
N
(2]
B
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. . F1M E2m = 3 . 4 2 - 3ME
H B =T 41 5A 6 A st 78 8 A 9A e EHEt | 1OA | 11A | 1258 wE 1A 2 A 3A e THAEH | &EEE | A 3t
1&‘}&3[1% (Wt%) e vip 7yip 7yip [=} n
4.10 7,541 ] [ 7, 541 0 0 0 0 7, 541 0 0 0 0 0 0 i) 1] 7,541
4.80 15,031 0 0 15, 031 0 0 0 0 15,031 0 0 0 0 0 0 0 0 0 15,031
174 *#4. 80 7,102 0 0 7,102 0 0 0 0 7,102 0 0 0 0 0 0 0 0 7,102
7
o ke
D
7
la)
© 4.10 310 0 0 310 0 0 0 0 310 0 0 0 0 0 0 0 0 0 310
Ij\j = 4.80 717 0 0 77 0 0 0 0 717 0 0 0 0 0 0 0 0 0 717
Z *4. 80 125 0 0 125 0 0 0 0 125 0 0 0 0 0 0 0 0 0 125
& 2 ke
3
5
4
PN
B
E - 4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
b2S o 4.80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
| *4. 80 77 0 0 77 0 0 0 0 7 0 0 0 0 0 0 0 0 0 77
= ke
B v
N
D
&
% 4.10 11, 218 11, 198 11, 180 11, 180 11, 161 11, 142 11, 124 11, 124 11, 124 11, 105 11, 088 11, 070 11, 070 11, 062 11,035 11, 017 11, 017 11,017 11, 017
4.80 58, 220 58, 133 58, 050 58, 050 57,965 57, 880 57,799 57,799 57,799 57,716 57, 635 57,553 57,553 57,471 57, 395 57,313 57,313 57,313 57,313
1 *%9. 00 2,091 2,089 2,088 2,088 2,086 2,085 2,083 2,083 2,083 2,082 2, 080 2,079 2,079 2,077 2,076 2,074 2,074 2,074 2,074
Z
gl |~ ke
D
=
D 4.10 403 389 376 376 363 351 339 339 339 327 315 304 304 293 283 273 273 273 273
= 4.80 1,721 1, 668 1,618 1,618 1, 567 1,518 1,472 1, 472 1,472 1,425 1, 381 1, 336 1,336 1,293 1, 253 1,212 1,212 1,212 1,212
Z *%9. 00 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4
P16 ] e
3
;E 5
2]
. ®
i—s - 4.10 23 29 34 34 39 43 48 48 48 52 56 60 60 64 68 71 71 71 71
v 4. 80 388 406 422 422 438 454 468 468 468 483 496 510 510 523 535 547 547 547 547
@‘ ﬁ \ #%9. 00 175 174 173 173 171 170 168 168 168 167 166 164 164 163 162 160 160 160 160
= ks
;
&7
D
&
4.10 5, 589 6, 757 7,894 7,894 9,072 10, 252 11, 397 11, 397 11, 397 12, 580 13,727 14,912 14,912 16, 098 17, 208 18, 395 18, 395 18, 395 18, 395
4. 80 22,009 23,098 24, 155 24,155 25, 245 26, 334 27, 389 27,389 27, 389 28,478 29, 531 30,619 30,619 31,707 32,724 33,811 33,811 33,811 33,811
#%9, 00 18, 063 19, 247 20, 399 20, 399 21,591 22,786 23,949 23,949 23,949 25, 154 26, 327 27,542 27,542 28, 763 29,911 31, 140 31, 140 31, 140 31, 140
g MWd/t
;-4
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BIRE— 3
(20234 %)
. 1M Fa2m %3 . &4 R " 3WE
E H =<7 4 B 5A4 6 A st 7A 8 A 9A4 i EH#IE | 10A 114 124 e 1A 2 A 3A g THIEH | B | A 2}
VETEE (wth) 5 5 3 3 .
4. 80 15, 789 0 0 15, 789 0 0 0 0 15, 789 0 0 0 0 0 0 0 0 0 15, 789
k9. 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7 *4, 80 12, 369 0 0 12, 369 0 0 0 0 12, 369 0 0 0 0 0 0 0 0 0 12, 369
7
> ke
2]
B
v 4.80 178 0 0 178 0 0 0 0 178 0 0 0 0 0 0 0 0 0 178
Z #%9. 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 ]
? *4. 80 175 0 0 175 0 0 0 0 175 0 0 0 0 0 0 0 0 0 175
VS b
bl I ke
3
5
1.2 % 2]
®
. Ey - 4.80 203 0 ] 203 0 0 0 0 203 0 0 0 0 0 0 0 0 0 203
jo o *%9. 00 0 0 0 0 0 0 0 0 0 0 ] 0 0 0 0 0 0 0 0
Hj ! *4. 80 150 0 0 150 0 0 0 ] 150 0 0 0 0 0 0 0 0 0 150
; ke
B & PN
[2]
=
47,‘ 4. 80 50, 929 ] 0 50, 929 0 0 0 0 50, 929 0 0 0 0 0 0 0 0 0 50, 929
*%9. 00 [ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
*4. 80 44, 443 0 0 44, 443 0 0 0 0 44, 443 0 0 0 0 0 0 0 0 0 44, 443
E )é Mwd/t
jE
2.00 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206 24, 206
3.50 23,717 23, 717 23,717 23,717 23,717 23,717 23,717 23,717 23,717 23,717 23,717 23,717 23,717 23,717 23,717 23,717 23,717 23,717 23,717
174 4.10 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310 185, 310
)Eﬁ 5 4.80 75, 846 75, 846 75, 846 75, 846 75, 846 75, 846 75, 846 75, 846 75, 846 75, 846 75, 846 75, 846 75, 846 75, 846 75, 846 75, 846 75, 846 75, 846 75, 846
v *%9. 00 ke 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6, 578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578
H| o
EES
N
Ee:
E © 2.00 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176
= 3.50 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246
E = 7 4.10 1, 689 1, 689 1, 689 1, 689 1, 689 1, 689 1, 689 1, 689 1, 689 1, 689 1, 689 1, 689 1, 689 1, 689 1, 689 1, 689 1, 689 1, 689 1, 689
- 4. 80 867 867 867 867 867 867 867 867 867 867 867 867 867 867 867 867 867 867 867
— 2 %9, 00 ke 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10
3
5
;:[\ ]
H =®
}ﬁ 7 2.00 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176
n 3.50 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249
4.10 2, 100 2, 100 2, 100 2,100 2, 100 2,100 2, 100 2, 100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2, 100 2, 100
~|k 4.80 962 962 962 962 962 962 962 962 962 962 962 962 962 962 962 962 962 962 962
= *%9. 00 ke 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490
v
A
2]
&
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o 1M ) 2 . %E3m . . F4m = = 3 I
H H | L | 4R 54 68 | Lya | 7H 8A 98 | gy | EME | 108 | 118 | 128 | Fya | 1A 2B 8A | L | THE | EEE | 27a
0 0 0 0 0 0 0 0 0 0
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